EtudeNo.6in G Major
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Etude No. 6: Thisis astudy in four against three. Oboe | subdivides by 4, whereas Oboe || maintains running
triplets. Garnier labels the movement Pascaille [Passacaill€], clearly one of the many kinds of dance music he
would have played at the Opéra. Another interpretation of the piece would be to play the part for Oboe | in
triple division to match the constant triplets of Oboe Il. The étude which follows (No. 7: Liez) isthe trio of this
Passacaille.
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Etude No. 7: Garnier places the rubric $ D.C. d lo. [sign Da Capo a Primo] at the end of this work and the dal
segno sign at the initiation of the previous study, indicating that this Liez [slurred] movement is the trio of the
Passacaille. Like that aforementioned work, there are clashes in subdivision in the print of the Liez: two eighth
notes occur against three eighths. The original print utilized 3/4 which isincorrect, as the bulk of the movement,
agigue, isin triple subdivision requiring 9/8.



